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3.0.2 GB 50199—94¢
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Ya——
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Yaq
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4.0.3
P H
Yw H

fic 3
Jiw ;

Vsd 3

Vsb 3

5.1

5.1.1 .
€9) H
@) 3
6)) o

5.1.2 ,

5.1.3 N

5.2

5.2.1 s

5.2.2 ,

5.2.3
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V0¢S( Ve Gy s VQQk, ak)<yid1R %, ak‘ (5.2.3—1)
S(e) H
R(*) H
Yo ’ I.1I I ,
1.1.1.0.0.9;
v ;
Ya— H
ax H
fk— ;
Pm— H
Gk— $
Y& H
Qe H
yQ— o
1 fi
V0¢S( Y6 Grs VQQk9 Acs ak)<V_d2R 7’ ay (5.2.3—2)
A— ;
Yaz o
’ 107 ’
5.2.4 ’ ’
D
C
V()S( Gy s Qs Sics ak)<y_:3 (5.2.4—1)
)
10 8C Gy s PQx s fics ak)<yij4 (5.2.4—2)
1~ G 5
Ya3~ Yaa— N 3
/2 ’ °
6
6.1
6.1.1 ( ) s .



DL 5077—1997 .

6.1.2

6.1.3

6.1.4

23.5~24.0 kN/m?,

(

1.0

1.05(0.95)

1.1¢0.9)

—

6.2

6.2.1
6.2.2
0.95,

7.1

7.1.1

7.1.2

7.1.3
7.2

7.2.1

ey

)
€))

1.0,

1.05,

)5

(7.1.1)
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: , 18.3 o
.2.2 s 7.2.1

.2.3 s 5
€D) ) ;
@) ) ;
3) N , SD 335—89¢

s 7.2.1

(1) anH ’ b

¢)) H , a N
1.0~0.5,

Pex = PevwHe (7.4.3)
2 (kN/m?) 5
B , C 3
Ho— (m), .
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7.4.5 ’
ey ,

@ , ,

(3) 9 9 b

8.1

8.1.1 . ,

8.1.2 , ,

8.1.3 ,

8.2

8.2.1 :
€)) > ( ) H,,

H,+ o(H,— H;), ( ) H, , [ 8.2.1(a).(b),
©.(d];

(2) ’ b

Hy, o Hy\ op o, ,
L 8.2.1(e) |;

3 , H,

Hy , [ 8.2.1(D].
’ a, o o 8.2.1 R

8.2.2 , ’ 8.2.2 R

€D) N 0.2;
@ N 0.2, 0.15,

8.2.3
€y) 1.0;
@ ) 1.2; . .
1.1;
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8.2.1
(A ¢:))

a ] &
0.25 0.20 0.50
0.20 0.15 0.50
0.20 0.15 0.50
0.25 — —
0.25 0.20 0.50
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A ®
a 0 2]
0.35 — —
0.30 — _
0.30 — _
0.35 — _
0.35 — —
.1. s a A
2. “ » 0.35, ,
€))
9
1.1,
1.2 :rhlfll_
8.2.4 -
b
8.2.5 == g
’ 2
’
&
8.3 i WA
8.3.1
, 8.2 . A
8.3.2 ¢ -
K N b .-
, §
° (L4} [
° D, 1— 32—
(a) ;(b) ) ;(d)
8.3.3

8.2.2
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€)) ,

(2) ’ 3
€)) ,
8.3.4 ’ 1.0, 1.2,

8.4

8.4.1 N s 8.2
8.4.2 N ’
8.4.3 N s 8.3

8.4.4 s 1.0, 1.2,

9.1

9.1.1 ( )y

9.1.2 ’ ° ’

9.1.3 ’ °
9.2

9.2.1 , ,
¢ 7.2.1);
P = Py ghcos 9.2.1)
A (N/n?);
P (kg/m*) ;
g— (m/s");
— A (m);
— o 9.2.1
9.2.2 1.05,
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9.3
9.3.1
P = qpy 0/ B (9.3.1)
P (N/mz),
/— [m®/(sem)];
r— (m/s);
R— (m),
9.3.2 ,
P, = qp,v(cosp, — cosp,) 9.3.2—1D
P, = gp,v(sing, +sing,) 9.3.2—2)
Py— (N/m);
p-p—— 9.3.2 ’ o
9.3.3
pcr’ opcr
9.3.1) , o
9.3.4
1.1,
9.4
9.3.2
9.4.1
i
P, = KdAopr 9.4.1)
Py (ND;
A— (o) ;
o—— (m/s);
Kd— o S ’ KdZOoG;
3 Fr<<10 . Ky=0.1~0.5( Fr
K, ’ Do
9.4.2 1.1,
9.5
9.5.1 ,
Py ==+ fnpx A 9.5.1D)

Py— N5
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Prr (N/m?)
A— (m?);
Bi—— , 9.5.1
9.5.2
*?
pﬁ=2.31KppWT (9.5.2)
K—— ;
r— (m/s), .
’ H ’ H
b
9.5.1
Lo/ by 0.5 1.0 1.5
L,>bm L,<bm
b/ by 0510|1505 101505/ 1.0]|15
B 0.10 0.14 — 0.55 | 0.46 | 0.40 | 0.44 | 0.37 | 0.32 | 0.37 | 0.31 | 0.27
s Ln— (m); b— (m); hy— (m),
9.5.3 9.5.3—1 9.5.3—2 o
b o
9.5.3—1 . K,
0.010~0.015 0.010~0.025 0.010~0.020
9.5.3—2 K,
Fry >3.5 Fr < 3.5
0.0< z/L2<0.2 0.03 0.03
0.2<< 2/L<0.6 0.05 0.07
0.6 << 2/L<<1.0 0.02 0.04
: Fy— $¥—— (m); L— (m),
9.5.4 1.3,
9.6
9.6.1 , ( N
AH, = K, ¢H, (9.6.1)
AH, ( ) (m);




DL 5077—1997 . 17

9.6.2

ey

)

3

€y

9.6.3 N

:Elv
9.6.4
Yoo
9.6.5

10.1

10.1.1

B

. (m);
E , 1.0;
’ ’ 1.2,
1.4,
( ) ,
R ( )
( ) ,
(n—1) noo, 5
, ( )
AH, — ZﬂiviAI{
= 2 A, (9.6.3—1)
ary = 228 (9.6.3—2)
(m);
(m);
( ) (m) (m/s)
(m) (m/s) ;
( ) L (m) U (/)
Vm :
I
m L
(m) (m/s) .
s 10
1.1,
10
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10.1.2
€y

©))
10.1.3

10.1.4

10.2

10.2.1

10.2.2
(10.2.2—1),
€h)

&)
€))

10.2.3

10.2.4
( )0

10.3

10.3.1

10.3.2

¢ D

b b

(10.2.2—2)

2500 m/s;

ok = yrH
Ot = Ko 0

(KN/m) 5

(KN/m?) 5

(KN/m®) 5
(m);
Ky = vg/(1—1p) ;

ox = AyrH

O = Kj 0
, 1.2~2.5(
, 1.1~3.0(
(10.2.2), (10.2.3) ,

9

»

1.0,
ao0.2.2—1)
(10.2.2—2)
10.2.3—1)
(10.2.3—2)

)
. ).
( ) o
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10.3.3 . , ,
gu = (0.2 ~0.3) yg B (10.3.3)
G (kN/m?) ;
B—— (m);
VR (KN/m?),
10.3.4 . , ,
@ = (0.05 ~ 0.10) pp H (10.3.4)
S (kN/m?) 5
H— (m),
10.3.5 ,
11
11.1
11.1.1 ( ) , ’
11.1.2
Py =%yH2Ka (11.1.2— 1)
H
Fak— (kN/m)a g ’ (6+ ¢ (
11.1.2—1);
y— (kN/m®) ;
H— (m);
K,— , F o
e Er 9 ( 11.1.2—2),
Fol o6=¢ (11.1.2—1) ]
08(31'
scr=90°—%[arcsin%g+arcsin%+ 6—,6’] 11.1.2—2)
— ®);
o— (o)i
—— ).
11.1.3

(

11.1.3):
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1— 22—
11.1.2—1 11.1.2—2
F0k=%yH21g, (11.1.3)
Foy —— (kN/m), %I ) )
Ky— ) F o
11.1.4 1.9, 11.1.3
11.2
11.2.1
( 11.2.1).
Fy = K;yHy Dy (11.2.1)
Fg— (kN/m) ;
Hy— (m);
Di— (m);
Ki— ) , 1m.2.1
11.2.2 ( 11.2.2).
Fy = K, yH, Dy (11.2.2)
Fo—
(kN/m) ;
Hy——
(m);
Dy— (m);
K; ;
k=2,
P s F.0.1 o
11.2.3
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1.1, 0.9, K,
1.3
11.3 LT
[ ]
11.3.1 . e
[ ]
I.I—f
Py = % Vsb hgtg2[45° —%] :: |
(11.3.1) R
Py— (kKN/m) ; o , o\ |
1 (KN/m®), s4— R
Vo = Va— (1 — ) Py 3 11.2.1
Vsa (KN/m*);
Vo (kN/m?)
n ;
hs— (m);
P )
11.3.2 ,
’ 11.2.2
11.3.3 , .
11.3.4 1.2,
12
12.1
12.1.1 , .
W = Pobbatts Wo (12.1.1)
W (N/mf) ;
B z ;
e ;
U ;
W (KN/m?)
12.1.2 GBJ 9—87( » ,
0.25 kN/m?,
’ 1.1 ;
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12.1.3 ,
€D s s
) s ,
12.1.4 , \
) . ,0.75~0.85;
) N ,1.2~1.5,
: ( ) ’
12.1.5 , , 12.1.5
12.1.5 o (km)
12.1.8 s <40 1.0
12.1.6 o A.B 40~60 1.0~1.1
A — N N 3 60~100 1.1~1.2
B - > ~ N N
. , 12.1.6 A ,
12.1.7 , GBJ 9—87( 12.1.6 “
Y GBJ 135—90¢ »
o (m) A B
12.1.8 30 m 1.5 5 1.17 0.80
s 0.25 s . . 10 1.38 1.00
’ A ° P e
s 1.0, i ’
GBI 9—87 GBJ 135— i L% L4
40 1.92 1.56
90 ’ 50 2.03 1.67
12.1.9 1.3, 60 2.12 1.77
70 2.20 1.86
12.2
80 2.27 1.95
12.2.1 N N 90 2.34 2.02
, 100 2.40 2.09
S = Mes (12.2.1) 150 2.64 2.38
200 2.83 2.61
%k (kN/m) 5 250 2.99 2.80
M g 300 3.12 2.97
 — (kN/m?), >350 3.12 3.12
12.2.2 GBJ 9—87 o

12.2.3
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’ 1.2 R
12.2.4 ’ GBJ 9—87 o
12.2.5 1.3,
13
13.1
13.1.1 , Fy
13.1.1 R
13.1.1
(m) 0.4 0.6 0.8 1.0 1.2
(kN/m) 85 180 215 245 280
1. o
2. y 0.87 ; , 1.25
3. 3
4.
13.1.2 (13.2.2—1) o
13.1.3 ’ 1/3 o
13.1.4 o
13.1.5 1.1,
13.2
13.2.1 :
Fbk == O-O7vdi ’ 14fic (13-2-1_1)
Foo— (MN) ;
r—— (m/s), ’ ’ C )
3 3 %’ 0-6 m/S;
A— (Inz)9 H
di— , 0.7~0.8 .
fo— (MPa), ’ ’ 0.3 MPa;
’ 0.45 MPa, 0.3 MPa,
13.2.2 , .
@) ) 13.2.2—1),. (13.2.2—2)
Fpl == m‘ﬁbdtb (13.2.2_1)
Fp = 0.04vdi/ mAfytgy (13.2.2—2)
Fy— (MN) ;



24 DL 5077—1997,
m—— , 13.2.2 5
A @
fo— (MPa), 0.75 MPa, 0.45 MPa;
b— (m) o
@) . (13.2.2—1) .
13.2.3 1.1,
13.2.2 m
2y
45° 60° 75° 90° 120°
m 0.54 0.59 0.64 0.69 0.77 1.0 0.9
13.3
13.3.1 N ’ ’
F.= @07, uZ4 (13.3.1)
F—— (kN ;
Pe H
®r s 1.0;
T (KN/m?), 13.3.1 ;
u C v ) (m);
Zdi (m) o
13.3.1
Ak (mm) 20 50 120 220 >220
(A (KN/m?) 20 40 80 110 111~150
A
2. 1 ] << >>
13.3.2 0.5m ’
5m, . 13.3.2
Umz Wﬂoor(fht (13-3-2)
O (KN/m?) 5
my—— H
C; H
Ot (kN/m?), 13.3.2—1 .
13.3.2—1
Ahy (mm) 20 50 120 220 >220
0y (KN/m?) 30 50 90 120 121~170
.. Ahy 0.25 H, .
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25

2. 2.0 m 5

13.3.2 ’ Hl H 13
i 13.3.2—2 .
13.3.2—2 B f
50 < Ahy |120 << 4k,
AhgCrom) S| T gy | con | 220
B 0.15 0.30 0.45 0.50 €
£ <0.20]| <0.15 < 0.08 | <0.08
H, 2.0m , y:d
13.3.3 0.5 m ,
5m
13.3.2
13.3.4 0.5m .
F,= mao,A (13.3.4—)
F,—— (KND ;
m]_— ’ :
m; = 1— ((s)/ AR)V? (13.3.4—2)
oy—— ) :
o= (1—(d,+ &)/ 7,3%? (13.3.4—3)
O (kKN/m?), 13.3.4—1 ;
A () ;
ES] (m)o 1\2 0;3’\’5
13.3.4—2 ;
Nh—— (mm);
d; (m);
d— (m), 0;
Zg— (m) .,
13.3.4—1 (kN/mt)
(m?) 5 10 50
20 100 60 50
50 150 100 80
Ah (mm) 120 210 150 120
220 280 210 170
>220 281~360 211~280 171~230
. 1. Oy
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13.3.4—2
(s]) (mm)
3 4.5
15 25
10 15
15 25
20 30
13.3.5 ’ o
13.3.6 N 1.1,
14
14.1
14.1.1 . ( N ) o
14.1.2 ( N ) 14.2.14.3 R 1
b b )
14.1.3 G . .
@D , 50 ;
(2) ’ o
14.1.4 1.2,
14.2
14.2.1 ’ ’
L
(1) H>=H, H> 5 , 14.2.1(a) .
Puc = Tl g+ ) (14.2.1—1)
Py—— (kN/m),
Vw (kN/ms);
L,—— (m);
by 1% (m);
H— (m)’
hz (m)9 :
ﬂk%u 2 wH
h, = Leth —— 14.2.1—2
H (m),

(14.2.1—3)
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@ H>He H<Z 14.2.100)
Pwk == %[( h]_%+ hz)(VwH+ plf)+lef:| (14'2'1_4)
Y 4T S— (kN/Inz)9
2aH
= ko h — 14.2.1—5
Pt Vw 195 5€C L. ( )
3) H<H, , 14.2.1(c) ,
Py = %]’o[(l.5—0.5l) ko +(0.74 2) H] (14.2.1—6)
— o H1.Thy 0.6; H>1.7hy
s 0.5,
Do = Kviywhl% (14.2.1_7)
K—— s 14.2.1 o
E
N ||
>
. B
: : w]?
:
-~ 14241
'z_ HHJL'I'"_ 14.2.1 K
i 1/10 ¢ 1/30 1/40 1/50 1/60 1/80 <1/100
K 1.59 ."'qt 1.6%‘_’.#—] 1.48 1.41 1.36 1.33 1.29 1.25
; 1 -~
r.- =
™~
14.3 g'
- E: "1
14.3.1 1.5<~J‘: <5 ;—I— 14.3.1
> { Tz a. :
P = KDK1K2K3 ths (14-3-1_1)
Y — (kN/InZ);
Kpi . 1.35;
Kl— ’ ;
hs hs
K =0.854+4.8—+ m(0.028—1.15=—) (14.3.1—2)

Ky— ’

L Ly
12.3.1—1 ;
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K ’ 14.3.1—2 ;
hqi— (m), 14 % o

14.3.1
14.3.1—1 K, 14.3.1—2 K
L/ kg 10 15 20 25 35 hy (m)| 0.5 1.0 1.5 2.0 | 2.5 | 3.0 | 3.5 | =4.0
K 1.00 1.15 1.30 1.35 1.48 K3 3.712.8 | 23|21] 19| 1.8 1.75| 1.7
)] Zn
ly= A+ 50 —~/Z@ T4+ B) (14.3.1—3)
2
A=hs[0.47—|—0.023%n]1+—2m (14.3.1—4)
S m
h
B=hs|:0.95—(0.84m—0.25)zj (14.3.1—5)

Zm<0 ’ /. =0,
(3) 14.3.1 ,(1=1,2,3,4) :
I, =0.01251,

I, =0.0325 L,
Iy =0.0265 I,
Iy =0.0675 I, (14.3.1—6)
Ly= (14.3.1—7)
m —1
14.3.1 Ry » G .
14.3.2 , 14.3.2 ,
D,
Pe = K K Ky K. vy b (14.3.2)

. — (kN/Inz) 3
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K—— , 14.3.2 o by
I{
Fa
:. ""“'-1 i, 3
i
ot -
LY
o
]
P | | [
it ] ] 0.5 =
14.3.2
14.3.3 , .
15
15.1
15-1-1 ~ b ~N
A b o
15.1.2 R 15.1.2 o
15.1.2
(kN/m?)
300> P>100 100> P>=50 50> P>=5
1 160~140 140~60 60~30
2 50~40 40~20 20~10
3 30~20 20~10 10~6
. P— MW); P=300MW .
15.2
15.2.1 . ,
( N ) ’
3~4 kN/n?,

15.2.2 s 15.2.2 o
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15.3
15.3.1 .
e , 10~20 kN/m? (
);
2 ,
’ 15.2.2
' KN/
3 ’ 01 . 5~8
: 02 . 5
€); 03 . 6
’ ° 04 5
15.3.2 05 . 5
. 06 4
(1) . 07 4
08 . 4
’ 09 . 4
’ 10 4
(2) ’ 11 5
d 12 7~10
3 13 5
’ 14 3
. 15 4
16 5
15.4 17 3
15.4.1 ( ) . 18 . 4
’ ( ) i .
0.8~0.85 o
15.4.2 N ’ ’
° 1.1~1.2°
15.4.3 , 1.2;
N ’ 1.05,
16
16.1
16.1.1 .
16.1.2 ( . ) .

16.1.3 ’ ’
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D ,
Prgx = ln[%(m— m) + Lkl_lqu

2 ’
Py = Zin[(m— my) +

Prog—— (kN) 5

Cmy + mz)} g (16.1.3—1)

L,— I
L

Q2 my+ my,+ ms)} g (16.1.3—2)

L—— (m);
L— (m);

16.1.4 , 5% o
16.1.5 , . 4% .

16.1.6 , , 1.05,
16.1.7 . 1.1,

16.2

16.2.1 ,

16.2.2 ( . ) o
16.2.3 R . )

16.2.4 ,

8 % o ’ o
16.2.5 , 5% .

16.2.6 , , 1.05,
16.2.7 N 1.1,

17

17.1

17.1.1 o



32 DL 5077— 1997 ;

17.1.2 , o
17.1.3 , D
€)) . , T
Td
To= (T4 10/2 (17.1.3—1)
Ta=T.— T (17.1.3—2)
T, T, —— . o
T, T4 .
@ %<0-5 , 1713,
T(z) , T T,
Tn b
| (2
Tn= TJ_L/ZT( 2)dz (17.1.3—3)
12 (/2
Ta= ?J_L/ZZT( 2)dz (17.1.3—4)
To = T(0) = T — T/ L (17.1.3—5)
L— (m);
B— (m),
To Ta s Ty )
€)) , ,
'I'o °
Tir}
I 2
a1
(a) ;(0) NO) L)
17.1.3
17.1.4 , .
@ A , 17.2 .
(2) ’ °© ’ 17.1.4 °
17.1.5 1.1,
17.1.4
1 ~ K/ Gmehe C) 10.6
: “ /e C) 0.96
3 L '/ 0.0045
! be J/(mleseC) /3c=6-4020+3.83v0

% (m/s),
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17.2
17.2.1 .
T, = Ty~+ Acoso(r— 7) ar7.2.1—1)
T, 5
— C );
7 C s 30° , 7 =26.5( );
30° y T =06.7C );
o— s O0=27/p,p , p=12C );
T ;
A— o
Tatn\Aa H
1 12
Tan = 75 25 Tai (17.2.1—2)
1 12
AaZEZ T,icos o( 7, — ) (17.2.1—3)
=1
Toi—1 ;
Ty ¢ y 7, = 1—0.5(C ),
4
A= (Ty—Ty)/2 ar7.2.1—4)
Tal\Ta7 71‘7 °
17.2.2 , . H
17.2.3 , .
9 o
17.2.4 , .
2~4 C, 1~2 C. ’
17.2.5 o N
17.3
17.3.1 . .
Tro =(Toe + To;)/2 (17.3.1—3)
T = Toe — T (17.3.1—4)
Ty =(Tre + Tri) /2 (17.3.1—5)
Tg =Tpe— T 17.3.1—6)
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Ty = A — A (17.3.1—8)
T[)i\TOe ~ H
ij\ Tme— N 3
A A— N o
Tois Toens Aix Ae 17.2 .
b4 o
17.3.2 J o
17.3.3 ’
’ ’ o
~ b ( )
17.3.4 ’
ATy = Te— (Ty+ Ty) (17.3.4)
ATck 3
Tf ’
T,— 3
T, .
17.3.5 ’
( ) o b
18
18.1
18.1.1 ’ ( (1990))
o 6 6 200 m 100X 108 m®
, 7 7 150 m €D) ,
18.1.2 N N N
, DL 5073—1997¢ » °
18.1.3 s N
18.1.4 , .
) ’ 3

(2) A A 9



DL 5077—1997 . 35

(3 : :
4) 8.9 s 1.2 N N

(5) b 8\9 1\2 ’

18.2

18.2.1 4 (1990)) , ay
18.2.1 ; a, 2/3,
18.2.2 , 18.2.1

; , 50 g— ,9.81 m/¢,

18.2.3 50 m , 18.2.1 18.2.2

—
~
N
(9]
(=]
B

o

18.2.4 , B T 18.2.4 .
B 18.2.4—1 , Boin Bome 20

Brax 2.0 2.5 2.25

18.2.4—2

T () 0.20 0.30 0.40 0.65

.0 T i}

18.3 18.2.4

18.3.1
18.3.2 ,
18.3.3 ’ o

19

19.0.1 :
¢D) .
2) ;
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DL 5077—1997 .

@
19.0.2

19.0.3
¢y
@
@

19.0.4

19.0.5

»0.2~0.4 MPa(
,0.1~0.2 MPa;
,0.2~0.5 MPa,

1.3,

);

1.0
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37

A.0.1
ey
(2
€Y
@
®)
(6

ey
@
3
€))
®)
(6
P,
€))
®
10)
an
a2
a3
a4
(15)
A.0.3
ey
)

.
»

);



38 DL 5077—1997 .
( )
Bl
(kN/m®)
1 @) 78.5
) 72.5
(@)) 23.5~24.0
2 )] 24.5~25.0
(©)) 21.0~23.0
4 18.5~20.0
3 14.5~16.0
4 22.0~25.0
5 21.0~23.0
6 18.0~21.0
)
€)) 17.0~18.0
10.0~11.0
)] 16.0~17.0
10.0~11.0
7 3) 14.5~16.5
0)) 16.0~18.0
15.0~17.0 .
16.0~19.0 .
)] 16.0 .
18.0 .
@ 24.0~27.5
)] 25.5~31.5
8 (3) 25.0~29.5
0)) 26.5~28.0
)] 24.0~27.0
(6 23.5~27.5
B2 (kN/m®)
(mm)
(N/m®*)
20 40 80 150
26.0 23.5 23.9 24.2 24.4
2.5 23.7 24.1 24.4 24.6
27.0 23.9 24.3 24.6 24.8
27.5 24.1 24.5 24.8 25.0




DL 5077—1997 .

39

B3

(kN/m?)

~AAAAAAAAA

20.0~22.0
18.5~21.0
18.0~21.0
18.5~21.0
20.0~22.0
19.0~20.5
20.56~22.5
20.0~22.5
19.0~22.0

GP

R2%

18.56~21.0
18.0~20.5
18.0~20.0
17.56~19.5
17.0~19.0

BL41<

16.56~19.0
16.0~18.0
16.0~18.5
16.0~18.5
16.0~18.0

2pES

15.56~17.0
15.5~17.0
15.0~16.0
14.0~15.0

C.0.1

~

b 5

ﬁe

0~0.20

0.1~0.4

0.25~0.60

0.40~0.80

0.65~1.00




DL 5077—1997 .

40
D
( )
D.0.1 .
%25 ’ Te=0.5l{) (Dl)
0
25, T ——— (02)
0 1.6 242
Sy
T—— (m);
Ly— (m);
S (m),
Te b o
D.0.2
a . N Di(a)]:
3
&= 1.5[% 7 40.441 (D3)
S— ;
S— (m);
T— (m),
) N D1(b) |: £
2 S . —
s=Zwea[fl1-7]]  @oT TyH A FEJE
2 -'—_-é-':.-l =I|—":.: |II.
S TR '
3) |: Dl(C)]: ia i b [Ch
L—0.7(8 + 8
& = (T1+ 2) (D5) (a) ,(b) 2 (o)
DI
éx 3
81\ Sy—— \ (m),
D.0.3
b= &4 (D6)
-
=
AH—— (m);
hi— (m);
&— 5
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D.0.4 ’ N
a . :
h' = By (D7)
by (D6) (m);
by (m) ;
o ’ |: D2(a)]
1
p=1.21— — , (DB)
[12[%} +2] [%Jro.osg]
N (m) ;
T (m),
pF>=1.0 , B =1.0,
Ak o ot = Wk R
.
srnssmma” —r 15

A= (1— )k (D9)

ol

Ahi} &
a= E T (D10) D2 .
a (m)o
D2(b) .
(2) (

[ - }]
(@ 3 ()T
D3
a) ho= An
k' = h.+ Ak (D11)
by (m);
hy' (m),
b A< 4r
hy+ by = Ak,
hy! = 2 hy (D12)

by = hy+ Ab— hy (D13)



42 DL 5077—1997 .

(D14)
(D15)
(D16)

(ED)

(E2)

(E3)

hy—— (m);
hy' (m),
byt by < AR, :
h! =2h,
hy! =2 h,
hea! = heg+ Abh— Chy+ hy)
hg—— D3 (D (m);
o' —— @ (m),
E
(
E.0.1
__Lom
gHy T
vy
P =2 4l
L— ( )
(m);
U ( )
D
m =
Z Ly (m) (m/s)
Hy— (m), .
T—— ( ) ()3
a (m/s),
800~1200 m/s ,
g ,9.81 m/s%,
E.0.2 (T,>2L/ o)
E
7 0 b= 5 &/ FF1+ )
% 0 n/1T & = To_ﬁgl
1 0 n/IT & = 1—2—1,;1
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7 1 =5/ F+4—0) nm=2?:g
7 1 71\/1T771:70+%)771 m=1+,2,g+0
0 1 ny/1—m= %)m m= 1%:0
Aot m— 3
2.0 85— . 3
3 oy —
F
( )
Ka KO
F.0.1 ( 9.1.2—1),
K, = cos(e— f) {cos(e— Pcos( e+ B)
cos? eco? (e — S+ @+ 6)
+ sin( @+ d)sin( p— B) + 2 ncos ecos psin( e — f+ o+ &)
—2[ (cos( e— B)sin( p— B) + ncos ecosp) (cos( e+ 6)
X sin( g+ 6) + 7cos ecos p) /%) (F1)
. Z% (F2)
» = u,—1.6450, (F3)
c=[A4+0.02(H—10) ] g (F4)
K, ;
) a— (KN/m) 5
H— (m);
e @F
— )
o— ), F1 ;
— s
c—— (KN/m?) 5
e ;
0y ;
Y (kN/m?") 5
A , U He 0p- 6,
F4



44 DL 5077—1997 .
F3 o
F1 0 F2 G, S o
1)
s (0.00~0.33) ¢
, (0.33~0.50) 9 G 30°~34° 34°~-37° 37°~40°
s (0.50 ~0.67)
(0.67 ~ 1.00) S 25°~30° 30°~35° 36°~40°
K3 F o.c
IP
<0.5 0.5~0.6 0.6~0.7 0.7~0.8 0.8~0.9 >0.9
<10 () 27 25 23 21 19 17
¢ (kN/m?) 10 8 6 4 3 2
1017 () 21 19 17 15 14 13
¢ (kN/m?) 18 14 1 9 8 6
17 () 17 15 13 12 11 10
¢ (kN/m?) 35 28 22 17 13 10
F4 A
0O
78 e (KN/m?) 3,
0.2 0.4 0.6 0.8
0.1 1.0 0.8 0.6 0.3
10 0.2 1.1 1.1 1.0 0.8
0.3 1.2 1.2 1.2 1.2
0.1 0.9 0.6 0.3 0
20° 20 0.2 1.0 0.8 0.5 0.3
0.3 1.1 1.0 0.8 0.5
0.1 0.8 0.5 0.2 0
30 0.2 0.9 0.6 0.3 0.1
0.3 1.0 0.8 0.5 0.3
0.1 1.2 1.2 1.1 1.0
5 0.2 1.3 1.3 1.4 1.5
0.3 1.4 1.5 1.5 1.5
0.1 1.1 0.9 0.7 0.5
30° 10 0.2 1.1 1.1 1.0 0.9
0.3 1.2 1.2 1.2 1.2
0.1 0.9 0.6 0.4 0.1
20 0.2 1.0 0.9 0.7 0.5
0.3 1.1 1.0 0.9 0.7




DL 5077—1997, 45
O
Hep He (kN/mz) ‘sw
0.2 0.4 0.6 0.8
0.1 1.2 1.2 1.1 1.0
5 0.2 1.4 1.4 1.4 1.5
0.3 1.4 1.3 1.2 1.1
0.1 1.1 1.0 0.8 0.5
40° 10 0.2 1.2 1.2 1.2 1.1
0.3 1.2 1.4 1.4 1.3
0.1 0.9 0.7 0.5 0.2
20 0.2 1.0 0.9 0.7 0.5
0.3 1.1 1.0 0.9 0.7
F.0.2
Ky=7= (F5)
1—w
Ky— ;
—— s 0.05 o
’ K() :
Ky =1—sing/ (F6)
@' ), 0.05 .
N7 » Ky F5 o
F5
Ky
G 0.22~0.40
0.30~0.60
0.40
by 0.52
0.64
0.40
CH 0.64

0.87




46 DL 5077—1997 .

G
( )
G.1
G.1.1 o 10 m 10 min ; Z (m)
’ Gl Kz ) ’ o
G.1.2 ( ) . Gl
D) R Z(m) 2 5 10 15 20
; K, | 1.25 | 1.10 | 1.00 | 0.9 | 0.9
) b
12 s 5 b s 5
3
Dy
+1.4+2.£3,.L4,
D=
G.1.3 o
G.2
G.2.1 ,
(1) N v :
ghn gH, 0'7] 0.0018( gD/ 1B)"#
2 —0.13th[0.7[ 2%] 1 0.13t[0.7C gH/ )] (G2)
9T ghm] 05
— = 13.9| —- G3
o [ 7 (G3)
hm— (m)’
Tm— (S)’
L — (m/s);
D—— (m)y
Hm— (m)7
g—— ,9.81 m/&%,

2 N s ( s % <<26.5m/s D<T.bkm).



DL 5077—1997, 47
by D) /3
% — 0.00625 1;(1,/8[{%?] (G4)
0
D 1/2
I _ 0.0386[-’;2—] (G5)
% 0
L 2% (m);
Ly—— (m),
3 , ( w<20m/s D <20 km),
A . D 1/3
42 = 0.0076 i51/12| L (G6)
i © g
D 1/3.75
_Q;Tn =0.331 1;0_1/2'15['9%] (G7)
—— gD/ =20~250 |, 5% hsyss gD/ vh =250 ~1000
10 % hlo% °
G.2.2 (%) hy G2 .
G2 1X679)
b ? ()
Hn 0.1 1 2 3 4 5 10 13 20 50
0 2.97 2.42 2.23 2.11 2.02 1.95 1.71 1.61 1.43 0.94
0.1 2.70 2.26 2.09 2.00 1.92 1.87 1.65 1.56 1.41 0.96
0.2 2.46 2.09 1.96 1.88 1.81 1.76 1.59 1.51 1.37 0.98
0.3 2.23 1.93 1.82 1.76 1.70 1.66 1.52 1.45 1.34 1.00
0.4 2.01 1.78 1.68 1.64 1.60 1.56 1.44 1.39 1.30 1.01
0.5 1.80 1.63 1.56 1.52 1.49 1.46 1.37 1.33 1.25 1.01
G.2.3 L, T,
ngzn 2mH
< Dth G8
Ly = 5 7t =1 (G8)
, H>0.5L, ,
_ g1
Ln="5" (G9)
A G3 o
G3 Ly Tron H
H T (8)
(m)| 2 3 5 6 7 8 9 10 12 14 16 18 20
1.0(5.21( 8.68 | 11.99 15.23 18.43 21.61 24.78 27.94 31.10
2.0(6.04{ 11.30| 16.22 20.94 25.57 30.14 34.68 39.19 43.68
3.0(6.21 12.67 | 18.95 24.92 30.71 35.40 42.02 47.59 53.14
4.016.23( 13.39| 20.85 27.93 34.76 41.42 47.99 54.49 60.94
5.0 13.75] 22.19 30.30 38.07 45.64 53.06 60.39 67.66 82.05 96.32 110.6 124.7 138.9
6.0 13.92( 23.12 32.17 40.85 49.25 57.48 65.58 73.60 89.44 105.1 120.7 136.3 151.8
7.0 13.99| 23.76 33.67 43.20 52.40 61.39 70.22 78.94 96.00 113.2 130.1 146.9 163.7
8.0 14.02( 24.10 34.87 45.21 55.18 64.88 74.20 83.79 102.3 120.6 138.7 156.9 174.7
9.0 14.03| 24.48 35.82 46.92 57.62 68.03 78.21 88.24 108.0 127.4 146.7 166.0 185.0
10.0f 14.04| 24.65 36.58 48.39 59.80 70.88 81.70 92.34 113.4 133.8 154.2 174.5 194.7




48 DL 5077—1997 ,
H Ty ()

m| 2| 3 4 5 6 7 8 9 10 12 14 16 18 20
12.0 14.05| 24.85 | 37.62 | 50.71 | 63.46 | 75.82 | 87.88 | 99.70 | 112.8 | 145.6 | 168.0 | 190.3 | 212.6
14.0) 24.92 | 38.24 | 52.40 | 66.38 | 79.95 | 93.17 | 106.11 | 131.3 | 156.1 | 180.5 | 204.8 | 228.8
16.0 24.95 | 38.59 | 53.60 | 68.69 | 83.42 | 97.75 | 111.75 | 139.0 | 165.7 | 191.9 | 217.9 | 243.7
18.0 24.97 | 38.78 | 54.44 | 70.52 | 86.32 | 101.72 | 116.75 | 146.0 | 174.5 | 202.4 | 230.2 | 257.6
20.0) 38.89 | 55.02 | 71.95 | 88.76 | 105.18 | 121.20 | 152.3 | 182.5 | 212.2 | 241.5 | 270.6
22.0) 38.95 | 55.42 | 73.07 | 90.80 | 108.19 | 125.17 | 158.1 | 190.1 | 221.4 | 252.3 | 282.9
24.0) 38.98 | 55.68 | 73.92 | 92.50 | 110.81 | 128.21 | 163.4 | 197.0 | 229.9 | 262.6 | 294.4
26.0) 39.00 | 55.88 | 74.58 | 93.50 | 113.09 | 131.88 | 168.8 | 203.6 | 238.0 | 271.9 | 305.4
28.0) 39.00 | 55.97 | 75.07 | 95.06 | 115.06 | 134.72 | 172.7 | 209.5 | 245.6 | 280.9 | 315.8
30.0) 39.01 | 56.05 | 78.44 | 96.02 | 116.77 | 137.25 | 176.9 | 215.3 | 252.7 | 289.6 | 325.7
32.0) 56.00 | 75.72 | 96.97 | 118.25 | 139.51 | 180.8 | 220.7 | 259.5 | 297.6 | 335.2
34.0) 56.12 | 75.92 | 97.42 | 119.52 | 141.52 | 184.4 | 225.8 | 266.0 | 305.4 | 343.3
36.0) 56.14 | 76.07 | 97.93 | 120.61 | 143.32 | 187.7 | 230.5 | 272.1 | 312.9 | 353.0
38.0) 56.16 | 76.18 | 98.34 | 121.53 | 144.91 | 190.7 | 235.0 | 278.0 | 320.0 | 361.4
40.0 56.17 | 76.26 | 98.60 | 122.33 | 146.32 | 193.6 | 239.2 | 283.3 | 326.6 | 369.4
42.0) 56.17 | 76.32 | 98.92 | 123.00 | 147.57 | 196.2 | 243.2 | 288.8 | 333.4 | 377.2
44.0) 56.17 | 76.36 | 99.13 | 123.66 | 148.67 | 198.6 | 247.0 | 293.9 | 339.7 | 384.6
46.0) 56.18 | 76.39 | 99.20 | 124.04 | 149.64 | 200.8 | 250.5 | 298.7 | 345.7 | 391.8
48.0) 76.41 | 99.42 | 124.41 | 150.49 | 202.9 | 253.9 | 303.3 | 351.5 | 398.8
50.0) 76.43 | 99.52 | 124.78 | 151.24 | 204.8 | 256.9 | 307.6 | 357.0 | 405.5
55.0) 76.45 | 99.71 | 125.19 | 152.93 | 208.9 | 264.2 | 317.9 | 370.1 | 421.4
60.0] 76.46 | 99.78 | 125.78 | 158.76 | 212.7 | 270.2 | 327.1 | 382.1 | 436.0
65.0) 76.47 | 99.82 | 126.02 | 154.49 | 214.9 | 275.8 | 335.2 | 393.3 | 449.7
70.0) 99.85 | 126.17 | 155.00 | 216.9 | 280.3 | 342.5 | 422.8 | 462.2

6.24/ 14.05| 24.97 | 39.02 | 56.19 | 76.47 | 99.88 | 128.12 | 156.07 | 224.6 | 305.7 | 399.3 | 505.3 | 623.9

G.3
G.3.1

1% :
Ry, = K, K\ K, Kg hyo; (G10)
Ryyy—— 1% (m);
byyy—— 1% (m);
K,— s G4 3
K\— . 1.0, 0.9;
K ’ Gb ;
Ky s (Gl1)~ (Gl14)
Ky =1.24th(0.432M) 4+ (N—1.029) @ (G11)
1/2 —1/2
z%z[ hll*;] / [th%} / (G12)
47H,
N =2.49tn > ZI:‘“ 1+ Lﬁ“er (G13)
shr

Q =1.092%exp(— 1.25 M) (G14)
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G4 G5 K,
AC) 0 10 | 20| 3 [ 40 | 5 | 60 w/ ¢ <1 2 3 4 >5
K, | 1.00 | 0.98 [0.96|0.920.87 | 0.82 | 0.76 K, 1.00 1.0 | 1.18 | 1.24 | 1.28
s B— , . ie— (m/s), e= L,/ T, .
H
( )
H.0.1 :
T.(y,7) = Tom( ) + A(coso 7— 75— e(y) ] (H1)
T.Cy, v y(m 7( ) 3
70 , 17.2.1
T y)—— y (m) , H.0.2 ;
Ay — y (m) , H.0.3 ;
eCy)— y (m)
( ), H.0.4 o
H.0.2 s
() Hy= g :
Ole—0.015y ( Yy < ?/0)
Tom( ) ={ 06005, = 10 (H2)
(2) Hy=
Tom(y) = Ce 00 (H3)
Q) H,<
Ton(y) = €y 0005 (H4)
H, (m);
Yo (m), ¥ =50~60 m;
Ci— s :
¢, =7.77+0.75T,, (Hb)
T —— , 17.2.1
H.0.3 ’
(D Hy=
026—0.055,11 (y< ?/())
Ay :{ Cpe0-055%, (9> 30 (HE)
(2) H,=
A(y) = Cpe 005 (H7)
) H, <

ALy) = Cpe 02 (H8)



50 DL 5077—1997 .
02— ’ H
C, =0.778 4, +2.94 (H9)
A , :
Ta7/2+ Aa (Tam<10 C)
Al = n (H10)
4 (T =10 C)
Aai L] 17-2.1 ;
Ta—7 ? Ta7= Tam+Aa5
Aa ’ Aa =1~2 ﬂCo
H.0.4 ,
(1) Hn> )} :
0.5340.059 (y <<y
e(y ={ y ¥~ (H11)
0.53+0.059 9, (y= yo)
(2) Hy,= :
e(y) =0.534-0.030y (H12)
(3) Hn< Yo
e(y) = 0.53+0.008 y (H13)
J
( )
J.0.1 :
Ay = Tog + Top — Thp @D
My = Ty + Ty — Ty J2)
Aka‘ ATdk—
ToosTog——
(17.1.3—2) 3
Tml\lei J.O.Z
Tmz‘sz— L)
J.0.3 o
J.0.2 T..T4
Tml = (Tme+ Tnu)/z (Jg)
Tag = Tme— T J4)
Tmi\Tme— N ’ 17.2 °
J.0.3 T Ty
Ty = %[Aecosw('r— 6 — 1) + Acosw(7— 6, — e — 1) J5)
Ty = ml Acoso( 17— O, — 75) — Acosw(T— 0, — e— 1) ] (J6)

_ 1 [2(chy—cosn)
A= ehnpFcosy



DL 5077—1997 .

p=J ai+ b
_1 [_ _ wﬂ
6 4 ar tg[ sh
1 b
0, = warctg[ 111]
[ ZLSIH( aﬂl)
ar

_2z
?
— ,  p=12C );
L— (m);
ac L] 17-1-4 H
T , 17.2.1
N ’ ’
H.0.4
A A— . s 17.2
T o 7=7.5 8.0
Too\Tos ToTo o
pl\p2\01\02 Jl °
1.4 I
[ 4
e, sFHHHN 9@ &
&
1
0.6 5t . 15
=18, /o N
ST
'-HE N .f;;.,.. = 0. 1
u o
] . =
a2 i 5
NN Pl |
o
d I i -
i 3 i 8 R w15 m "
Lifa, p




52

DL 5077—1997 .

K.0.1
(1

@

€))

K.0.2

“

»

&«

»

..



